

$$ii) f(n) = \sqrt[n]{\log^{r(n-1)}} \Rightarrow \log^{r(n-1)} \geq 0 \quad n \neq 1, \begin{cases} r(n-1) < 1 \Rightarrow \frac{r}{n} < \frac{1}{n} \\ r(n-1) > 1 \Rightarrow n \geq \frac{r}{1-r} \end{cases}$$

$$\Rightarrow \left[\frac{r}{1-r}, \infty\right) - \{1\}$$

$$\hookrightarrow \log \frac{1}{4 + \sqrt{|n|} - |n|} \Rightarrow 4 + \sqrt{|n|} - |n| \geq 0$$

$$\Rightarrow 4 - \sqrt{|n|} \leq |n|$$

$$\frac{r(n+r)}{n+b} + a \geq 0 \Rightarrow \frac{r(n+r) + a(n+b)}{n+b} \geq 0$$

$$n+b \neq 0 \Rightarrow n \neq -b$$

$$f(n) - n + 1 \geq 0 \quad f(n) \geq n-1 \quad \left. \begin{array}{l} n \geq 0 \Rightarrow r(n-1) \geq n-1 \\ n < 0 \Rightarrow r(n+r) \geq n-1 \end{array} \right\} \Rightarrow n \geq \frac{r}{1-r}$$

$$f(n) = \begin{cases} r(n-1) & n \geq 0 \\ r(n+r) & n < 0 \end{cases}$$

$$U \Rightarrow \left[\frac{r}{1-r}, \infty\right)$$

$$\frac{r(n+r) + a(n+b)}{(n+b)^r} \geq \frac{r(1+r) + a(1+b)}{((n+1)^r)^r} \geq \frac{r(n+1)^r}{(n+1)^r} = \frac{r}{n+1} \Rightarrow D_f \in R - \left\{-\frac{1}{r}\right\}$$

$$\hookrightarrow n \neq -\frac{1}{r}$$

$$1 - \log(r(n-a)) \geq 0 \Rightarrow \log(r(n-a)) \leq 1 \Rightarrow 0 < r(n-a) \leq 1 \Rightarrow +a \leq r(n-a) \leq 1+a$$

$$\frac{a}{r} < n \leq \frac{1+a}{r} \Rightarrow b \leq \frac{a}{r} < \frac{1+a}{r} \quad (-b \leq \frac{1+a}{r} - \frac{a}{r} \leq \frac{1}{r} \leq a)$$